PSSA and Keystone Exams

Summer 2023 Workshops

PSSA, Grade 6
Math

Men's Shoe Sizes

Handscoring
Practice Set 1

*Responses in this set do not have true scores. Apply scores based on
scoring criteria.



PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1 P1-1
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25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his resuits.

Men’s Shoe Sizes

A. What was the median shoe size of the 40 men Carlos surveyed’? Explain how
you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1

P1-1

25. Continued. Please refer to the previous page for task explanation.
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Martin thinks more men have shoe sizes between 6 and 9 than between 11% and

13 because the whisker from 6 to 9 is longer than the whisker from 11% to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you founciﬁ those
numbers, - - g e
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1 P1.2

Carlos surveyed 40 men about their shoe sizes. Caros made the box-and-whisker plot below to display his results.

Men's Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how you found your answer,

The median shoe size of the 40 men is 10.5. | got this answer because the line in the center of the box always shows what
the median is.
135§ 1000

1
Martin thinks more men have shoe sizes between 6 and 9 than between 115 and 13 because the whisker from & to 9 is longer than the

1
whisker from 115 to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number of men with shoe sizes in each interval and describe how
you found those numbers.

Martin is not correct because each section of the box-and-whisker plot is 25% of the data. There would be ten men with shoe
sizes between 6 and 9 and 11 1/2 and 13. | found this because if you did 25% plus 25% plus 25% plus 25% you would get
100, 40 divided by 4, because there were four 258%, is 10,

300 1 1000




PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1 P1-3

P e et At T = B @@ ST T T T T e e

F -

25, Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his resuits.

Men’s Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1 P1-3

25. Continued. Please refer to the previous page for task explanation.,

Martin thinks more men have shoe sizes between 6 and 9 than between 11%- and

13 because the whisker from 6 to 9 is longer than the whisker from 115 to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
numbers.
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1 P1-4

Carlos surveyed 40 men about their shoe sizes. Caros made the box-and-whisker plot below to display his results.

Men's Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how you found your answer,

Th median of the mens shoe sizw ia 9.5. | found my answer by adding all of the numbers up (6+7+8+3+10+11+12+13). Then |
divided by how many numbers there are (). Then | got my answer of 9.5.
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1
Martin thinks more men have shoe sizes between 6 and 9 than between 115 and 13 because the whisker from & to 9 is longer than the

1
whisker from 115 to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number of men with shoe sizes in each interval and describe how
you found those numbers.

He is not correct because you would have to look at the larger numbers to see who has more shoe sizes. 12 | found this
number by Iooking at what is in the middle of 11 112,
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1

P1-5

25.
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Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results,

Men’'s Shoe Sizes

A. Whatwas the mggian.shpe size of the 40 men Carlos surveyed? Explain how
you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1

P1-5
= |
25,  Continued, Please refer to the previous page for task explanation.
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Martin thinks more men have shoe sizes between 6 and 9 than between 115 and
13 because the whisker from 6 to 9 is longer than the whisker from 11-;- to 13.

B. Explain why Martin is not correct. As part of your explanation, find the:number
of men with shoe sizes in each interval and describe how you  found those
numbers. ‘

., M;fﬁﬂ,gw are f?of' Corrrcr- braovse cach Stelion of
v O~ are/-whidber T hos the S pumber oF

n it Eacp Sec A,
TFhe 70N repreg. e L.

lera 15, Thene are 4, e spreed g Lhe

&We 27 ¢,
3/708“)‘ @ e 9“’ 7;;5’7" “ e Slzes

: .. Qe
ras 13 # OJ-\. e Virmw  #Pus

27377 o tey
Sguse

G wppp,



JSKelly
Text Box
PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1

JSKelly
Text Box

csloan
Text Box





PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1 P1-6

Carlos surveyed 40 men about their shoe sizes. Caros made the box-and-whisker plot below to display his results.

Men's Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how you found your answer,

The median of the 40 shoe sizes Carlos surveyed was 9 and 10. | found this answer by looking at his box and wisker plot and
saw that the most number was 9 and 10. Also by seeing that the number 9 and 10 box was bigger than all the other ones and
that means that @ and 10 are the answer. You could also cross of each end one by one then see what one or ones are |eft
and they are your meadian.
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i
Martin thinks more men have shoe sizes between 6 and 9 than between 115 and 13 because the whisker from & to 9 is longer than the

1
whisker from "5 to 13.

B. Explain why Martin iz not correct. As part of your explanation, find the number of men with shoe sizes in each interval and describe how
you found those numbers.

MArtin is not correct because first off the longer and bigger box isnt always the answer and because the fact that more men
have those size feel has nothing to do with the fact that thal is his answer,
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1 P1.7
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25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his results.

Men’s Shoe Sizes

| A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1

25. Continued. Please refer to the previous page for task explanation.

| Martin thinks more men have shoe sizes between 6 and 9 than between 11_-12- and

13 because the whisker from 6 to 9 is longer than the whisker from 11% to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
numbers. '
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1

=

25, Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot

below to display his results.

Men’s Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found your answer.
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1 P1-8

25. Continued. Please refer {0 the previous page for task explanation.,

Martin thinks more men have shoe sizes between 6 and 9 than between 11% and

13 because the whisker from 6 to 9 is longer than the whisker from 11% to 13.

| B. Explain why Martin is not correct. As part of your explanation, find the number
‘ of men with shoe sizes in each interval and describe how you found those’
| numbers.. ' '
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1

=

P1-9

25. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot

below to display his results.

Men’s Shoe Sizes
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A. What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found your answer, _ .
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1

25. Continued. Please refer to the previous page for task explanation.,

P1-9

Martin thinks more men have shoe sizes between 6 and 9 than between 11% and

13 because the whisker from 6 to 9 is longer than the whisker from 11-12- to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
numbers.
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1 P1-10

| ™
74. Carlos surveyed 40 men about their shoe sizes. Carlos made the box-and-whisker plot
below to display his resuits.,
Men's Shoe Sizes
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TA. What was the median shoe size of the 40 men Carlos surveyed? Explain how
you found ‘your answer,
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PSSA Math: Men's Shoe Sizes (Grade 6); Practice Set 1 P1-10

74. Continued. Please refer to the previous page for task explanation.

Martin thinks more men have shoe sizes between 6 and 9 than between 11% and

13 because the whisker from 6 10 9 is longer than the whisker from 11% to 13.

B. Explain why Martin is not correct. As part of your explanation, find the number
of men with shoe sizes in each interval and describe how you found those
numbers.
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PSSA Math: Men's Shoe Sizes (Grade 6), Practice Set 1

PRACTICE SET 1*
Subject: Math ltem: Men's Shoe Sizes Grade:6

Name

Number |[Score Consensus Notes

P1-1

P1-2

P1-3

P1-4

P1-5

P1-6

P1-7

P1-8

P1-9

P1-10

* Responses in this set do not have true scores. Apply scores based on scoring criteria.
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